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CAPITAL STRUCTURE AND DIVIDEND FuLiu:

528 Part IV:
this is its business risk, which is defined as the ulﬂlCCrta.ltll:ty ttherent Proj
of future ROE, assuming the firm is financed solely zl COmmop Stoc ’ectign
uses debt and preferred stock (financial leverage), this concCentrateg ;. -

risk on the common stockholders. To illustrate, S’lrllil)pose. ten peOple deCide tusl“ess
a corporation to manufacture steel roof trusses. €re is a certajip aMmoyp, 0 form
m

ness risk in the operation. If the firm is capitalized only ?vith commop . "
if each person buys 10 percent of the stock, then C?,Ch. investor shpe Quity ang
the business risk. However, suppose the firm is capitalized with 50 per Ualjy, iy
and 50 percent equity, with five of the investors putting up their capi t;len chy
and the other five putting up their money as equity. In this case, the five ;
who put up the equity will have to bear all of the business risk, g the lny,
stock will be twice as risky as it would have been had the firm pe en fing Comm()n
with equity. Thus, the use of debt, or financial leverage, concentrages I:Ced Ony
business risk on its stockholders. he firpy
To illustrate the concentration of business risk, again consider Strash
tronics. Strasburg has $175,000 in assets and is all-equity financed. 5 If the ﬁ‘;fg Elec.
using Plan A from Figure 12-2, then its expected ROE would be 12.0 pegc Were
a standard deviation of 8.0 percent. Now suppose the firm decides tq Chent With
Capital structure by issuing $87,500 of debt at kg = 10% and using these f::lr;gde its
§ to

replace $87,500 of €quity. Its expected return on €quity (which
w
only $87,500) would rise from 12 to 18 percent: ould noy, be

New o
(Leveraged) ¥ tororsged
Situation (See Tablem]lz.z)
Expected EBIT ( unchanged) $35,000
Interé:st (10% on $87,500 of debt) 8,750 o
arnings before taxes $26,250 e
Taxes (4 :
Net inc(ox(l)wf) M ?Z‘;ggg
Expected ROE = 2750 821,00
= $15,750/887,500 = 18% $21,000/$175,000 ?0
> s = %

Thus, the use of debt would
’ uld l )
18 percent. CVETage up” the “Xpected ROE from 12 percent to
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